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ﬁ;&g TREOBHOEILADKRES TREDOHBEBSSLADKRES TREOBBOEILADKRES TREDHFESILNIDOKRES
= = 4 == | Fmh o0 jjo)jq§g X 4 ‘Fﬁn“ﬁb\?BONKIF B jJO)jt%é X 4 B2& | Limhonkks ﬁwk%é X 4 Limhontts | 5 ﬂ@i%é
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM#Z#B% % - -~ - -|[3mZEEBR S -~ - - -| 100kN/MZ#BZ % - -~ - -|3mEBZ D -~ - -
Fh s 1.00 | 0.00 ~ 512 63.86 | EnLS | 000 ~ 6512|1.87 10.00 Fhn s 1.00 | 5.00 ~ 5.70 63.86 | =nS | .00 ~ 5.70 | 1.87 10.00
2 100kN/mM%Z#BZ % - -~ - -|3mEBZS -~ - - -| 100kN/M%#BZ% - -~ - -|3mZEHEZ S -~
Zh s 1.00 | 0.00 ~ 6.75 85.27 | #ns | 0oo ~ 675]1.73 9.27 Zzhn st 1.00 | 5.00 ~ 8.20 85.27 | =ns | 5,00 ~ 820 1.73 927
3 100kN/m%Z#BZ % - -~ - -|3mE#BZD -~ - - -| 100kN/M%#8% % - -~ - -|3mE#BZD -~ - - -
Zhn s 1.00 | 0.00 ~ 6.98 8857 | #ns | 000 ~ 0.00) 1.64 8.76 zh s 1.00 | 5.00 ~ 9.10 88.57 | #nLSY | 5,00 ~ 9.10 | 1.64 8.76
4 100kN/m%Z#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/M%# 8% % - -~ - -|3mE#ZD -~ - - -
Zhn s 1.00 | 0.00 ~ 4.75 59.20 | #hst | 000 ~ 000|167 8.95 zh s 1.00 | 5.00 ~ 5.00 59.20 | =nLs | 5,00 ~ 500 1.67 8.95
5 100kN/mM%Z#BZ % - -~ - -|3mEBZS -~ - - -| 100kN/M%#BZ% - -~ - -|3mZEEZ S -~
T LS 1.00 | 000 ~ 586 73.84 | TS | 000 ~ 586|213 11.41 LS 1.0015.00 ~ 872 73.54 | FhS | 500 ~ 872|213 11.41
g 100kN/mM%Z#BZ % - -~ - -|3mEBZS -~ - - -| 100kN/M%#BZ % - -~ - -|3mZEHEZ S -~
Zh s 1.00 ) 000 ~ 424 53.00 | Fhs | 0.00 ~ 424|232 12.44 zh st 1.00 | 500 ~ 738 53.00 | #nLSY | 5,00 ~ 7.38|2.532 12.44
7 100kN/m#%#BZ % - -~ - -|3mEEZD -~ - - -| 100kN/m%H#BZ % - -~ - -[3mEEZS -~
zh s 1.00 | 0.00 ~ 7.69 98.65 | =nLs | 000 ~ 769|231 12.38 zhLs 1.00 | 5.00 ~ 1059 98.65 | EnLSY | 5,00 ~ 1059 | 2.31 12.38
g 100kN/m%#E=2% | 1.00 | 000 ~ 022 103.18 |3mEBZ 5 -~ - - -| 100kN/m%Z#BZ 5| 1.00 | 1063 ~ 11.23 103.18 |3m%iBAS -~
TN LS 1.001 022 ~ 800 100.00 | ThLs | 000 ~ 800|212 11.35 LS 1.00 ] 5.00 ~ 1063 100.00| TnLs | 500 ~ 1123|212 11.35
9 100kN/m#%#B 2 % - -~ - -|3mZEEZ D -~ - - -| 100kN/m%H#BZ 5 - -~ - -[3mEEZS -~
T LS 1.00 ] 000 ~ 579 72.40 | TS | 000 ~ 579|210 11.22 LS 1.00 | 5.00 ~ 820 72.40 | TS | 500 ~ 820|210 11.22
10 100kN/m#%#BZ % - -~ - -|3mEEZD -~ - - -| 100kN/m%H#BZ % - -~ - -[3mEEZS -~
TN LS 1.00 1 000 ~ 596 74.62 | TS | 0.00 ~ 0.00| 1.69 9.06 zhLs 1.00 | 5.00 ~ 6.80 74.62 | #hS | 5,00 ~ 6.80 | 1.69 9.06
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
zhn s ~ zhst ~ zhLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLs ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLsh ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ Zh LS ~ Zh LS ~ Zh s ~
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